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Prototype GaPS,
AFLOW prototype label ABC4.mP24 14 _e_e_4e-002
ICSD 2613
Pearson symbol mP24
Space group number 14
Space group symbol P2 /c

——para.ms=a,b/a,c/a,ﬂ,xl,yl, 21,22,Y2,22,T3,Y3,23,T4,Y4,24,T5,Y5,25, L6, Y6, 26

AFLOW prototype command aflow --proto=ABC4_mP24_14_e_e_4e-002

e This structure has the same aflow label as AgMnQO,, HOg. The structures are generated by the same symmetry
operations with different sets of parameters (--params) specified in their corresponding CIF files.

Simple Monoclinic primitive vectors
a2
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a; = aX
az = by
ag = ccosfX+csinfz

Basis vectors
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Lattice Cartesian Wyckoff Atom
coordinates coordinates position type
B, = T1a; + Y1 as + 21 as = (axy +cz1co8B) X+ by1 §+cz18in 5z (4e) Gal
B, = —x1a; + (y1 + %) as — = — (axl +ec (z1 — %) cos B) X+ (4e) Gal
(21— 3) as b(yi+3)y—c(z1—3)sinfz
B3 = —Ti1ap —Yyirazx —Zz1ag = - (axl + cz1 cos 5) X — byl y — Cz1 Sinﬂi (46) Gal
Bs = z;a;— (y1 - %) as+ (zl + %) a3 = (axl +c (zl + %) COSB) X — (4e) Gal
b(y1 — %) y—i—c(zl —|—%)sin52
By = Toa + ys as + 2o as = (axg + czacosB) X+ bya§ + czosin 5z (de) PI
Bs = —zpa; + (y2+3) a2 — = — (awg 4 ¢ (22 — 3) cos B) X+ (de) PI
(2 1) o o+ 2) 9 —c (5 - 3)sin g2
B, = —Toa] — Ysag — Zp a3 = —(axg+czpcosf) X —bys § — czosin Bz (4e) PI
Bgs = zg9a;— (yg - %) as+ (zg + %) ag = (axg +c (22 + %) cosﬂ) X — (4e) PI
b(y— %) §+c(22+3)sinB2
By = T3a; +y3zas + 23 as = (axs + czzcos B) X+ bys§ + czgsin 5z (4e) SI
Bio = —zza; + (ys + 3) az — = — (azs +c (23— 1) cos B) X+ (4e) SI
23—%) as b(m—k%)&—c(zg—%)sinﬁi
B = —T3za; —yszaz — 2383 = —(aws+czzcosf) X —bys§ — czzsin B2 (4e) ST
Bixo = 2z3a;— (y — %) as+ (23 + %) ag = (amg +ec (23 + %) cosﬁ) X — (4e) S1I
b(ys —3) ¥ +c(zs+3)sinfz
Bz = Tgay + ygas + 24 a3 = (axg + cz4co88) X+ bys § + cz4sin B2 (4e) S1I
B14 = —r4ay + (y4 + %) ag — = - (ax4 +c (24 — %) [¢0)] 6) X + (46) S1II
(2’47%) as b(y4+%)yfc(24f%)sin62
By = —x4a] —Ygag — 24 a3 = —(axg+czqgcosf) X —bys§ — czqsin Bz (4e) S1II
Big = zsa;— (y4 — %) as+ (24 + %) ag = (ax4 +c (z4 + %) cosﬁ) X — (4e) S1I
b(ys—3) ¥ +c(za+3)sinfz
By, = Tsa; + ysas + 25 ag = (axs + cz5c08 8) X+ bys § + cz5sin 5 2 (4e) S 111
Bis = —rsa; + (y5 + %) as — = — (ax5 +c (25 — %) cos ﬂ) X+ (4e) S III
z5— 3) as b(ys+3) ¥ —c(25—3)sinBz
By = —I5a; — Ysas — 25 as = —(axs+czscosf) X —bys§ — czssin B2z (4e) S II1
Bao = asa;—(ys—3) ax+(z+3) a3 = (aws + ¢ (25 + 3) cos B) % — (4e) S III
b(ys —3) ¥ +c(25+3)sinfz
B21 = Teal + Yg a2 + 26 A3 = (azﬁ + czg COS ﬂ) X+ by6 5’ + czg Sinﬂ Z (46) STV
By = —zga; + (yG + %) as — = — (ax(; +c (26 — %) cos ﬁ) X+ (4e) SIV
(z(;—%) as b(y6+%)y—c(zg—%)sinﬁi
By = —Tga; — Ygas — 2¢ A3 = —(axg+czgcosf) X —bys§ — czesin B2 (4e) SIV
By = wmgar—(ys—3) as+(z+3) a3 = (aze +c (26 + 3) cos B) X — (4e) SIV
b(y — %) y+c(zﬁ+%)sinﬁi
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